SARGENT
ASSA ABLOY

80 Series Parts Manual

For assistance, contact SARGENT at
800-727-5477 or www.sargentlock.com

Copyright © 2017, Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved.
Reproduction in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited.

ASSA ABLOY, the global leader
in door opening solutions

A8231 12/17



Table of Contents SARGENT
ASSA ABLOY

Chassis Assemblies

Rail ASSEMDIIES ....cevvueieiiiieeeeeecceee e 83-102
700 Series ET Control ....ccoeveeeeeeeieie e 103-133
Auxiliary Controls .........ccccoeciiieerieeiiiieee e 134-136

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction 3
ASSA ABLOY, the global leader in door opening solutions in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited.

A8231 12/17



A8231 12/17

700 Series ET, 706 & 713 SARGENT

ASSA ABLOY

Item Part No. Description Qty Sellable
1 97-0428 ET Case 1 No
2 97-0477 Bushing Insert 1 Yes
3 68-1393 Retaining Plate 1 Yes
4 97-0760 Cap Nut 1 Yes
5 01-1183 Cr-Thms #10-32 X 5/16" 1 Yes
6 — Lever Handle'? 1 Yes
— Cylinder Assembly' 1 Yes
ot | o7-0850 Collar’ 1 Yes
13-0180 Cylinder Nut 1 Yes
7 97-0355 Locking Slide (706) (607-2) 1 Yes
97-0356 Locking Slide (713) (607-1) 1 Yes
8 01-4507 1/8" X 1/2" Double Ended Groove Pin 2 No
9 97-0528 Hub Plate (Std) 1 Yes
10 97-0557 Fusible Link 1 Yes
11 97-0571 Locking Slide Spring 1 Yes
12 01-1182 Cr-Chms #10-32 X 19/64" 1 Yes
13 97-0425 Hub Spring (Std) 1 Yes
14 97-0558 Slide Support 1 No
15 97-0563 Spring Support 1 No
16 97-0564 Return Spring 1 No
97-0549 Spindle (1 3/4" Door) (730-1) 1 Yes
17 97-0550 Spindle (2" Door) (730-2) 1 Yes
97-0551 Spindle (2 1/4" Door) (730-3) 1 Yes
01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 2 Yes
Sr’:loo\:/n 01-4372 Thru Bolt #1/4-20 X 2 5/8" (2" Door) 2 Yes
01-4373 Thru Bolt #1/4-20 X 2 7/8" (2 1/4" Door) 2 Yes

1. Specify finish

2. Specify #41 cylinder by keying requirements

3. Specify lever design by hand

Note: 730 kit includes items required to replace the spindle and thru bolts for specified door
thickness

Note: 607 kit includes items 5, 7, 10, 11, 14, 15, and 16.

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

1 06 Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction
in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited. ASSA ABLOY, the global leader in door opening solutions



A8231 12/17

700 Series ET, 716

Item Part No. Description Qty Sellable
1 97-0427 ET Case 1 No
2 97-0477 Bushing Insert 1 Yes
3 68-1393 Retaining Plate 1 Yes
4 97-0760 Cap Nut 1 Yes
5 01-1183 Cr-Thms #10-32 X 5/16" 1 Yes
6 — Lever Handle'® 1 Yes
7 01-4507 1/8" X 1/2' Double Ended Groove Pin 2 No
8 97-0528 Hub Plate (Std) 1 Yes
9 97-0557 Fusible Link 1 Yes
10 97-0571 Locking Slide Spring 1 Yes
hh| 01-1182 Cr-Chms #10-32 X 19/64" 1 Yes
12 97-0425 Hub Spring (Std) 1 Yes
— Cylinder'22a 1 Yes
97-0350 Cylinder Collar 1 Yes
13-0180 Cylinder Nut 1 Yes
Not 13-0086 Backplate (8816 Only) 1 Yes
Shown | 13-0074 Connecting Screw (8816 Only) 2 Yes

Connecting Screw (8816 Onl

13-0075 @ 1/2" Do And OE/er) Y 2 Yes
13 97-0439 Locking Slide (716) 1 Yes
97-0549 Spindle (1 3/4" Door) (730-1) 1 Yes
14 97-0550 Spindle (2" Door) (730-2) 1 Yes
97-0551 Spindle (2 1/4" Door) (730-3) 1 Yes
01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 1 Yes
Strw\lc?vtvn 01-4372 Thru Bolt #1/4-20 X 2 5/8" (2" Door) 1 Yes
01-4373 Thru Bolt #1/4-20 X 2 7/8" (2 1/4" Door) 1 Yes

1. Specify finish

2. Specify cylinder size

2a. By keying Requirements

2b. #34 Cylinder for 8816

#46 Mortise cylinder for 8916 & 9916
3. Specify lever design by hand

Note: 730 kit includes items required to replace the spindle and thru bolts for specified door

thickness

108

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction

in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited.

SARGENT

ASSA ABLOY

ASSA ABLOY, the global leader in door opening solutions



700 Series Freewheeling ET, 743 SARGENT

ASSA ABLOY

Item Part No. Description Qty Sellable
1 97-0428 ET Case 1 No
2 97-0477 Bushing Insert 1 Yes
3 97-0760 Cap Nut 1 Yes
4 — Lever Handle'? 1 Yes
5 01-4507 1/8" X 1/2" Double Ended Groove Pin 2 No
6 97-0347 Locking Slide Spring 1 Yes
7 01-1182 Cr-Chms #10-32 X 19/64" 1 Yes
— Cylinder'? 1 Yes
Not 97-0350 Collar 1 Yes
Shown 13-0180 Cylinder Nut 1 Yes
97-0571 Locking Slide Spring Yes
8 97-0425 Hub Spring (Std) 1 Yes
9 97-0478 Lower Hub Plate 1 Yes
10 97-0479 Spindle Lock 1 Yes
11 97-0475 Locking Slide (743) 1 Yes
12 97-0581 Retaining Plate 1 Yes
13 97-0582 Spacer 1 Yes
97-3092 Spindle Assembly (1 3/4" Door) 1 Yes
14 97-3093 Spindle Assembly (2" Door) 1 Yes
97-3094 Spindle Assembly (2 1/4" Door) 1 Yes
15 01-1479 Cr-Fhms #10-32 X 1/2" 1 Yes
16 01-1183 Ct-Thms #10-32 X 5/16" 1 Yes
17 97-0527 E Clip 0.312 Shaft 1 Yes
01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 2 Yes
SL\‘(;)vtvn 01-4372 Thru Bolt #1/4-20 X 2 5/8" (2" Door) 2 Yes
01-4373 Thru Bolt #1/4-20 X 2 7/8" (2 1/4" Door) 2 Yes

1. Specify finish

2. Specify #41 cylinder by keying requirements
3. Specify lever design by hand

Note: 607 kit includes items 6, 11, and 16

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction 1 09
ASSA ABLOY, the global leader in door opening solutions in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited.

A8231 12/17



700 Series Freewheeling ET, 746 SARGENT
ASSA ABLOY

Item Part No. Description Qty Sellable
1 97-0428 ET Case 1 No
2 97-0477 Bushing Insert 1 Yes
3 97-0760 Cap Nut 1 Yes
4 — Lever Handle'® 1 Yes
5 01-4507 1/8 X 1/2 Double Ended Groove Pin 2 No
6 97-0347 Locking Slide Spring 1 Yes
7 01-1182 Cr-Chms #10-32 X 19/64" 1 Yes
— Cylinder'? 1 Yes
Not 97-0350 Collar 1 Yes
Shown | 13-0180 Cylinder Nut 1 Yes
97-0571 Locking Slide Spring W/ Bl Dyk 1 Yes
8 97-0425 Hub Spring (Std) 1 Yes
9 97-0478 Lower Hub Plate 1 Yes
10 97-0479 Spindle Lock 1 Yes
11 97-0476 Locking Slide (746 Function) 1 Yes
12 97-0581 Retaining Plate 1 Yes
13 97-0582 Spacer 1 Yes
97-3092 Spindle Assembly (1 3/4" Door) 1 Yes
14 97-3093 Spindle Assembly (2" Door) 1 Yes
97-3094 Spindle Assembly (2 1/4" Door) 1 Yes
15 01-1183 Cr-Fhms #10-32 X 5/16" 1 Yes
16 97-0527 E Clip 0.312 Shaft 1 Yes
01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 2 Yes
Srll\l(?vtvn 01-4372 Thru Bolt #1/4-20 X 2 5/8" (2" Door) 2 Yes
01-4373 Thru Bolt #1/4-20 X 2 7/8" (2 1/4" Door) 2 Yes

1. Specify finish

2. Specify #41 cylinder by keying requirements
3. Specify lever design by hand

Note: 607 kit includes items 6, 11, and 15

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction 1 1 1
ASSA ABLOY, the global leader in door opening solutions in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited.

A8231 12/17



700 Series ET, 706-4 & 713-4

Item Part No. Description Qty | Sellable
1 97-0436 ET Case, Off-Set Mounting 1 No
2 97-0477 Bushing Insert 1 Yes
3 68-1393 Retaining Plate 1 Yes
4 97-0760 Cap Nut 1 Yes
5 01-1027 Ph FI U'cut Ms #10-24 X 3/8" 1 Yes
6 01-1183 Cr-Thms #10-32 X 5/16" 1 Yes
7 — Lever Handle'® 1 Yes

— Cylinder Assembly' 1 Yes

oy [ 970850 Collar' 1 Yes
13-0180 Cylinder Nut 1 Yes

8 01-4507 1/8" X 1/2" Double Ended Groove Pin 2 No
9 97-0528 Hub Plate (Std) 1 Yes
10 97-0557 Fusible Link 1 Yes
11 97-0571 Locking Slide Spring 1 Yes
12 01-1182 Cr-Chms #10-32 X 19/64" 1 Yes
13 97-0425 Hub Spring (Std) 1 Yes
14 97-0355 Locking Slide (706) 1 Yes
97-0356 Locking Slide (713) 1 Yes

15 97-0558 Slide Support 1 No
16 97-0563 Spring Support 1 No
17 97-0564 Return Spring 1 No
18 68-0852 Cam 700-4 1 Yes
19 68-0853 Bracket 2 Yes
20 01-1478 Cr Pan Hd Mach Screw #1/4-20 X 3/8" 2 Yes
97-0549 Spindle (1 3/4" Door) (730-4) 1 Yes

21 97-0550 Spindle (2" Door) (730-5) 1 Yes
97-0551 Spindle (2 1/4" Door) (730-6) 1 Yes

01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 2 Yes

Sr':l:vtvn 01-4372 Thru Bolt #1/4-20 X 2 5/8" (2" Door) 2 Yes
01-4373 Thru Bolt #1/4-20 X 2 7/8" (2 1/4" Door) 2 Yes

1. Specify finish

2. Specify #41 cylinder by keying requirements

3. Specify lever design by hand

Note: 730 kit includes items required to replace the spindle and
thru bolts for specified door thickness

Note: 607 kit includes items 6, 10, 11, 14, 15, 16, and 17

ASSA ABLOY, the global leader in door opening solutions

SARGENT
ASSA ABLOY

e

Nl 7/

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction 1 1 7

in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited.

A8231 12/17



A8231 12/17

700 Series Freewheeling ET, 743-4 SARGENT

ASSA ABLOY

Item Part No. Description Qty Sellable
1 97-0436 ET Case, Off-Set Mounting 1 No
2 97-0477 Bushing Insert 1 Yes
3 97-0760 Cap Nut 1 Yes
4 01-1027 Cr-Fhms #10-24 X 3/8" 1 Yes
5 01-4507 1/8 X 1/2 Double Ended Groove Pin 2 No
6 — Lever Handle'® 1 Yes
7 01-1182 Cr-Chms #10-32 X 19/64" 1 Yes
— Cylinder? 1 Yes
oot [ 970850 Collar’ 1 Yes
13-0180 Cylinder Nut 1 Yes
8 97-0478 Lower Hub Plate 1 Yes
9 97-0479 Spindle Lock 1 Yes
10 97-0425 Hub Spring (Std) 1 Yes
11 68-0853 Bracket 2 Yes
12 01-1478 Cr Pan Hd Ms #1/4-20 X 3/8" 2 Yes
13 01-1183 Cr-Fhms #10-32 X 5/16" 1 Yes
97-3098 Spindle Assembly (1 3/4" Door) 1 Yes
14 97-3099 Spindle Assembly (2" Door) 1 Yes
97-3100 Spindle Assembly (2 1/4" Door) 1 Yes
15 97-0475 Locking Slide (743) 1 Yes
16 97-0581 Retaining Plate 1 Yes
17 97-0582 Spacer 1 Yes
18 68-0852 Cam 700-4 1 Yes
19 97-0347 Locking Slide Spring 1 Yes
01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 2 Yes
Sr':l:vtvn 01-4372 Thru Bolt #1/4-20 X 2 5/8" (2" Door) 2 Yes
01-4373 Thru Bolt #1/4-20 X 2 7/8" (2 1/4" Door) 2 Yes

1. Specify finish

2. Specify #41 cylinder by keying requirements
3. Specify lever design by hand

Note: 607 kit includes items 13, 15, 17 and 19

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

1 20 Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction
in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited. ASSA ABLOY, the global leader in door opening solutions



700 Series Freewheeling ET, 746-4

Item Part No. Description Qty | Sellable
1 97-0436 ET Case, Off-Set Mounting 1 No
2 97-0477 Bushing Insert 1 Yes
3 97-0760 Cap 1 Yes
4 01-1027 Cr-Fhms #10-24 X 3/8" 1 Yes
5 01-4507 1/8 X 1/2 Double Ended Groove Pin 2 No
6 — Lever Handle'? 1 Yes
7 01-1182 Cr-Chms #10-32 X 19/64" 1 Yes
8 97-0478 Lower Hub Plate 1 Yes
— Cylinder? 1 Yes
o [ 97-0350 Collar’ 1 Yes
13-0180 Cylinder Nut 1 Yes
9 97-0479 Spindle Lock 1 Yes
10 97-0425 Hub Spring (Std) 1 Yes
11 68-0853 Bracket 2 Yes
12 01-1478 Cr Pan Hd Ms #1/4-20 X 3/8" 2 Yes
13 01-1183 Cr-Fhms #10-32 X 3/8" 1 Yes
97-3092 Spindle Assembly (1 3/4" Door) 1 Yes
14 97-3093 Spindle Assembly (2" Door) 1 Yes
97-3094 Spindle Assembly (2 1/4" Door) 1 Yes
15 97-0476 Locking Slide (746) 1 Yes
16 97-0581 Retaining Plate 1 Yes
17 97-0582 Spacer 1 Yes
18 68-0852 Cam 700-4 1 Yes
19 97-0347 Locking Slide Spring 1 Yes
01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 2 Yes
Sr’:lc?vt/n 01-4372 Thru Bolt #1/4-20 X 2 5/8" (2" Door) 2 Yes
01-4373 Thru Bolt #1/4-20 X 2 7/8" (2 1/4" Door) 2 Yes

1. Specify finish
2. Specify #41 cylinder by keying requirements
3. Specify lever design by hand

Note: 607 kit includes items 13, 15, 17 and 19

ASSA ABLOY, the global leader in door opening solutions

SARGENT
ASSA ABLOY

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction 1 21
in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited.

A8231 12/17



A8231 12/17

700 Series Freewheeling ET, 743-6 SARGENT

ASSA ABLOY

Item Part No. Description Qty | Sellable
1 97-0524 ET Case, Drop Mounting 1 No
2 — Lever Handle'? 1 Yes
3 97-0477 Bushing Insert 1 Yes
4 97-0478 Lower Hub Plate 1 Yes
5 97-0760 Cap Nut 1 Yes
6 01-1182 Cr-Thms #10-32 X 19/64" 1 Yes
7 01-1183 Cr-Fhms #10-32 X 5/16" 1 Yes
8 01-4507 1/8 X 1/2 Double Ended Groove Pin 2 No
— Cylinder'? 1 Yes

Not

Shown 97-0350 Collar 1 Yes
13-0380 Cylinder Nut 1 Yes
9 97-0425 Hub Spring (Std) 1 Yes
10 68-1254 Extension Bracket 1 Yes
11 01-1478 Cr Pan Hd Ms #1/4-20 X 3/8" 1 Yes
12 97-0347 Locking Slide Spring 1 Yes
13 97-0479 Spindle Lock 1 Yes
14 97-0475 Locking Slide (743) 1 Yes
15 97-0581 Retaining Plate 1 Yes
16 97-0582 Spacer 1 Yes
17 97-3092 Spindle Assembly 1 Yes
18 97-0527 E Clip 0.312 Shaft 1 Yes
Sr’:l:vtvn 01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 2 Yes

1. Specify finish

2. Specify #41 cylinder by keying requirements

3. Specify lever design by hand

Note: 700-6 ET control is only available for 1-3/4" doors
Note: 607 kit contains items 7, 12, 14 and 16

12

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction
in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited. ASSA ABLOY, the global leader in door opening solutions



700 Series Freewheeling ET, 746-6 SARGENT

ASSA ABLOY

Item Part No. Description Qty Sellable

1 97-0524 ET Case, Drop Mounting 1 No
2 — Lever Handle'® 1 Yes
3 97-0477 Bushing Insert 1 Yes
4 97-0478 Lower Hub Plate 1 Yes
5 97-0760 Cap Nut 1 Yes
— Cylinder'? 1 Yes

Not
Shown 97-0350 Collar’ 1 Yes
13-0180 Cylinder Nut 1 Yes
6 01-1182 Cr-Thms #10-32 X 19/64" 1 Yes
7 01-1183 Cr-Fhms #10-32 X 3/8" 1 Yes
8 01-4507 1/8" X 1/2" Double Ended Groove Pin 2 No
9 97-0425 Hub Spring (Std) 1 Yes
10 68-1254 Extension Bracket 1 Yes
11 01-1478 Cr Pan Hd Ms #1/4-20 X 3/8" 1 Yes
12 97-0347 Locking Slide Spring 1 Yes
13 97-0479 Spindle Lock 1 Yes
14 97-0526 Locking Slide (746-6) 1 No
15 97-0581 Retaining Plate 1 Yes
16 97-0582 Spacer 1 Yes
17 97-3092 Spindle Assembly 1 Yes
18 97-0527 E Clip 0.312 Shaft 1 Yes
01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 2 Yes
Srrw\l:vtvn 01-4372 Thru Bolt #1/4-20 X 2 5/8" (2" Door) 2 Yes
01-4373 Thru Bolt #1/4-20 X 2 7/8" (2 1/4" Door) 2 Yes

1. Specify finish

2. Specify #41 cylinder by keying requirements

3. Specify lever design by hand

Note: 700-6 ET control is only available for 1-3/4" doors

Note: 607 kit includes items 7, 12, 14 and 16

ASSA ABLOY, the global leader in door opening solutions

)

0—_
Yy 29

C)
|

U

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction 1 25
in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited.

A8231 12/17



700 Series Freewheeling ET, 743-8 SARGENT

ASSA ABLOY

Item Part No. Description Qty Sellable

1 97-0428 ET Case 1 No
2 97-0477 Bushing Insert 1 Yes
3 97-0760 Cap Nut 1 Yes
4 — Lever Handle'® 1 Yes
5 01-4507 1/8" X 1/2" Double Ended Groove Pin 2 No
6 97-0425 Hub Spring (Std) 1 Yes
7 97-0479 Spindle Lock 1 Yes
— Cylinder? 1 Yes

Not
Shown 97-0350 Collar! 1 Yes
13-0180 Cylinder Nut 1 Yes
8 97-0478 Lower Hub Plate 1 Yes
97-3092 Spindle Assembly (1 3/4" Door) 1 Yes
9 97-3093 Spindle Assembly (2" Door) 1 Yes
97-3094 Spindle Assembly (2 1/4" Door) 1 Yes
10 97-0527 E Clip 0.312 Shaft 1 Yes
11 68-3671 Spindle Adapter 1 Yes
12 97-0347 Locking Slide Spring 1 Yes
13 97-0581 Retaining Plate 1 Yes
14 97-0475 Locking Slide (743) 1 Yes
15 97-0582 Spacer 1 Yes
16 01-1182 Cr-Chms #10-32 X 19/64" 1 Yes
17 01-1183 Cr-Fhms #10-32 X 5/16" 1 Yes
01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 2 Yes
Sr':l:vtvn 01-4372 Thru Bolt #1/4-20 X 2 5/8" (2" Door) 2 Yes
01-4373 Thru Bolt #1/4-20 X 2 7/8" (2 1/4" Door) 2 Yes

1. Specify finish

2. Specify #41 cylinder by keying requirements
3. Specify lever design by hand

Note: 607 kit includes items 12, 14, 15 and 17

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction 1 29
ASSA ABLOY, the global leader in door opening solutions in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited.

A8231 12/17



A8231 12/17

700 Series Freewheeling ET, 746-8

Item Part No. Description Qty Sellable

1 97-0428 ET Case 1 No
2 97-0477 Bushing Insert 1 Yes
3 97-0760 Cap Nut 1 Yes
4 — Lever Handle'? 1 Yes
5 01-4507 1/8" X 1/2" Double Ended Groove Pin 2 No
6 97-0425 Hub Spring (Std) 1 Yes
7 97-0479 Spindle Lock 1 Yes
8 97-0478 Lower Hub Plate 1 Yes
— Cylinder'? 1 Yes

Not
Shown 97-0350 Collar’ 1 Yes
13-0180 Cylinder Nut 1 Yes
97-3092 Spindle Assembly (1 3/4" Door) 1 Yes
9 97-3093 Spindle Assembly (2" Door) 1 Yes
97-3094 Spindle Assembly (2 1/4" Door) 1 Yes
10 97-0527 E Clip 0.312 Shaft 1 Yes
11 68-3671 Spindle Adapter 1 Yes
12 97-0347 Locking Slide Spring 1 Yes
13 97-0581 Retaining Plate 1 Yes
14 97-0476 Locking Slide (746 Function) 1 Yes
15 97-0582 Spacer 1 Yes
16 01-1182 Cr-Chms #10-32 X 19/64" 1 Yes
17 01-1183 Cr-Fhms #10-32 X 3/8" 1 Yes
01-4451 Thru Bolt #1/4-20 X 2 3/8" (1 3/4" Door) 2 Yes
Srlm\l:vtvn 01-4372 Thru Bolt #1/4-20 X 2 5/8" (2" Door) 2 Yes
01-4373 Thru Bolt #1/4-20 X 2 7/8" (2 1/4" Door) 2 Yes

1. Specify finish
2. Specify #41 cylinder by keying requirements

3. Specify lever design by hand

Note: 607 kit includes items 12, 14, 15 and 17

130

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction

in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited.

SARGENT

ASSA ABLOY

>

$h¢

O
N2

£

l,‘..

Bl
LD

T

ASSA ABLOY, the global leader in door opening solutions



A8231 12/17

Auxiliary Controls SARGENT

106
113 '
31-106 ASSA ABLOY

31-113

Function | Assembly No. Description Sellable
Night Latch 94-2093* Yes
Standard
Classroom 94-2094* Yes
Night Latch 94-2426* Yes
Cladding

Classroom 94-2427* Yes

Item Part No. Description Qty Sellable
1 94-2089 Chassis Subassembly 1 Yes
2 94-0119 Cover* 1 Yes
3 94-2121 Turn Lever Assembly* 1 Yes
4 94-0110 Cam 1 Yes
5 94-0051 Lever Locking Plate 1 Yes
6 32-1254 #10-24 x 1/2 PHMS 1 Yes
7 94-0054 Lever Spring 1 Yes
8 97-0052 #8-32 x 5/16 Ohms W/ #6 Head 1 Yes
9 — Cylinder & Key Assembly* 1 Yes
10 97-0350 Cylinder Collar* 1 Yes
11 13-0180 Cylinder Nut 1 Yes
12 01-3582 #6-32 x 3/8 RHMS 1 Yes
13 01-0204 #6-32 x 3/8 Flat Washer 1 Yes
14 94-0109 Extension Spring 1 Yes
15 94-0114 Locking Lever 1 Yes

94-2249 Locking Lever & Pin Assembly 1 Yes
16 94-2087 Lever Assembly 1 Yes
94-2419 Lever Assembly 1 Yes
17 94-2448 H1 Aux Control Adapter Pack 1 Yes
18 94-2447 Wd Aux Control Adapter Pack 1 Yes
*Specify finish

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

1 3 Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction
in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited. ASSA ABLOY, the global leader in door opening solutions



Auxiliary Controls SARGENT

306 |
313
31-306 ASSA ABLOY

31-306

Function | Assembly No. Description Sellable
Night Latch 94-2091* Yes
Standard
Classroom 94-2092* Yes
Night Latch 94-2428* Yes
Cladding
Classroom 94-2429* Yes
Item Part No. Description Qty Sellable
1 94-2089 Chassis Subassembly 1 Yes
2 94-0119 Cover* 1 Yes
3 94-2121 Turn Lever Assembly* 1 Yes
4 94-0110 Cam 1 Yes
5 94-0051 Lever Locking Plate 1 Yes
6 32-1254 #10-24 x 1/2 PHMS 1 Yes
7 94-0054 Lever Spring 1 Yes
8 97-0052 #8-32 x 5/16 Ohms W/ #6 Head 1 Yes
9 — Cylinder & Key Assembly* 1 Yes
10 97-0350 Cylinder Collar* 1 Yes
11 13-0180 Cylinder Nut 1 Yes
12 01-3582 #6-32 x 3/8 RHMS 1 Yes
13 01-0204 #6-32 x 3/8 Flat Washer 1 Yes
14 94-0109 Extension Spring 1 Yes
94-0112 ) Yes
15 Locking Lever 1
94-0114 Yes
94-2329 Yes
94-2088 Yes
16 Lever Assembly 1
94-2421 Yes
94-2420 Yes
17 94-2448 H1 Aux Control Adapter Pack 1 Yes
18 94-2447 Wd Aux Control Adapter Pack 1 Yes

*Specify finish

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction 1 35
ASSA ABLOY, the global leader in door opening solutions in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited.

A8231 12/17



A8231 12/17

Auxiliary Controls s ARGENT

NB-306

NB-313 ASSA ABLOY

Function | Assembly No. Description Sellable

Night Latch 94-2093* Yes

Classroom 94-2094* N8 Yes

Item Part No. Description Qty Sellable
1 94-2372 Chassis Subassembly 1 Yes
2 94-0119 Cover* 1 Yes
3 94-2373 Turn Lever Assembly* 1 Yes
4 94-0185 Locking Hub 1 Yes
5 94-0051 Lever Locking Plate 1 Yes
6 32-1254 #10-24 x 1/2 PHMS 1 Yes
7 94-0054 Lever Spring 1 Yes
8 97-0052 #8-32 x 5/16 Ohms W/ #6 Head 1 Yes
9 — Cylinder & Key Assembly* 1 Yes
10 97-0350 Cylinder Collar* 1 Yes
11 13-0180 Cylinder Nut 1 Yes
12 94-0114 Locking Lever 1 Yes

94-2249 Locking Lever & Pin Assembly Yes
13 94-0184 Tail Piece 1 Yes
14 94-0186 Space 1 Yes
15 01-4552 5/16 Retaining Ring 1 Yes
16 94-2448 H1 Aux Control Adapter Pack 1 Yes
17 94-2447 Wd Aux Control Adapter Pack 1 Yes
*Specify finish

136

The warranty on SARGENT® products becomes void if the product is modified in any way, regardless of whether the modification
causes or contributes to any alleged defect. If a SARGENT product is modified it may no longer meet industry certification and
quality control standards applicable to the original product and is no longer a genuine SARGENT product.

Copyright ©2017 Sargent Manufacturing Company, an ASSA ABLOY Group company. All rights reserved. Reproduction
in whole or in part without the express written permission of Sargent Manufacturing Company is prohibited. ASSA ABLOY, the global leader in door opening solutions



